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@I.3&1 (909) lI=1= WEB 9 00 ~ 10 30 R&AIN #4E CAVIN=Y
(N2 10 30 ~ 10 40
QI.5#&2 (609) lI=1= WEB 10 40 ~ 11 40 PR X CAVIN=Y
QI.EE1 (907) lI=1= WEB 11 40 ~ 13 10 PR X CAVIN=Y
(N2 13 10 ~ 14 00
@®II. &3 (60%) lI=1= WEB 14 00 ~ 15 00 =F #F LEWMHFERF
GII.’®&2 (90%) lI=1= WEB 15 00 ~ 16 30 =F #F LEWMHFERF
(N2 16 30 ~ 16 40
©IV. #E&H4 (6097) lI=1= WEB 16 40 ~ 17 40 AR &pdr LEERAF
@IN.EE3 (9093) lI=1= WEB 17 40 ~ 19 10 AR &pdr LEERAF
®V.5#%5 (60 | 2HE WEB 8 50 ~ 9 50 TR FX LEEREAF
OQV.®&4 (904) | 2HER WEB 9 50 ~ 11 20 TR FX LEERAF
(N2 11 20 ~ 11 30
V1. 55%6 (60%y) | 2HE WEB 11 30 ~ 12 30 AR T2 LEBMHFERF
(N2 12 30 ~ 13 20
@VI.’®ES5 (120%) | 28E WEB 13 20 ~ 15 20 AR T2 LEWMHFERF
(N2 15 20 ~ 15 30
@VI. ’®&6 (904) | 2HE WEB 15 30 ~ 17 00 INE AR CAvIN=Y




